
GRAHAM’S LAW OF DIFFUSION 
 

DIFFUSION: is the spontaneous spreading out of a gas leading to a uniform 

distribution of gas particles throughout the container. 

 

Thomas Graham in 1829 found that lighter gases diffuse more rapidly than heavier 

gases. 

 

WHY? 

 

The average kinetic energy is the same for all gases at the same temperature and 

pressure. 

 

  EK = 1/2 mv2 m – mass of the particle 

      v – velocity of the particle 

 

if we have two gases, Gas A and Gas B, their kinetic energies  are equal when both 

gases are at the same temperature and pressure. 
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                                                                                                m is the molar mass of gas! 

   vA = √mB                  

   vB  √mA 

 

 

This leads to Grahams Law of Diffusion  

 

   
 

 

 

 

 



 

 
From this image, which gas diffused faster? _____________________ 

 
Practice 
 

 
 

 

 

 

 

 

 

 

 

 


